|

RACING

INSTRUCTION MANUAL FOR
NEXT LEVEL RACING F-GI MATTE BLACK
SIMULATOR COCKPIT

If you require any support with your product or have an issue,
please contact our friendly team at:

support@nextlevelracing.com
for a prompt response.




Thank-you for purchasing a

==

F-GI' Simulator Cockpit

If you require any support with your product or have
an issue, please contact our friendly team at:

support@nextlevelracing.com

for a prompt response.

WARNING

-Please do not use power tools for assembly as over
tightening can damage your frame.
-During assembly please be sure to have a washer positioned
at the front of every bolt as pictured below.




i

RACING F-GT SIMULATOR COCKPIT

U

What'’s In The Box:

WHEEL PLATE

PEDAL ANGLE BAR

GT SUPPORT POSTS
SUPPORT POST
FRONT PLATE
IR
=
WHEEL SUPPORT BARS

ANGLE MOUNTS BUTTKICKER GAMER 2
ADAPTOR

Leee
eeee

HEIGHT ADJUSTABLE FEET

B SHIFTER ARM I I

PEDAL PLATE

FLOOR POSTS

SEAT SIDE FRAMES

;| " P ETHR

SCREWS FOR WHEEL LUMBAR/ NECK CUSHION

SHIFTER PEDALS
Screws for wheel ,pedal shiftey

e  somm eoLts
a———— 0V BoLTS

o : SEAT BASE SEAT BACK

For assistance please contact: support@nextlevelracing.com

www.nextlevelracing.com




TP

RACING F-GT SIMULATOR COCKPIT

Step 1: FRAME ASSEMBLY

FLOOR POSTS

1X16MM BOLT
Repeat both sides

Step 2:

FRONT PLATE

7

/

2 X 50MM BOLTS
Repeat both sides

SUPPORT POST

1 X 50MM BOLT.
Repeat both sides.
Install SUPPORT POST on third hole from front for GT and last hole for Formula

For assistance please contact: support@nextlevelracing.com

www.nextlevelracing.com



o

RACING F-GT SIMULATOR COCKPIT

Step 4: SEAT ASSEMBLY

4 X 16MM BOLTS.
Repeat both sides.

SEAT SIDE FRAMES

Attach SEAT SIDE FRAMES to SEAT BASE PLEASE NOTE: DUAL NUT PLATE SITS
INSIDE SEAT SLIDER FRAME

Step 5:

For assistance please contact: support@nextlevelracing.com
www.nextlevelracing.com




i

RACING F-GT SIMULATOR COCKPIT

Step 7: Formula ASSEMBLY

WARNING
DO NOT OVER TIGHTEN 2 X 60MM BOLTS FOR PEDAL PLATE

OR YOU CAN DAMAGE YOUR FRAME

3.
2 X 50MM BOLTS.

5. Attach PEDAL PLATE to the Repeat both sides.

PEDAL ANGLE BAR using 2 X
16MM BOLTS on each side.
Repeat both sides.

*For Formula- Recommend
attaching at bottom of PEDAL

PLATE as pictured
2. Insert WHEEL SUPPORT BARS.

Use the 2 X 16MM BOLTS on each side
to adjust height.

PEDAL PLATE

1.
2 X 60MM BOLTS.

4. Attach PEDAL ANGLE BAR using Repeat both sides.

2 X 60MM BOLTS. os't'ggcte' yhot:r:eazéispghvgtsh tQses'ble
Repeat both sides. position, tig u POSSI

PEDAL ANGLE BAR to ensure wheel support is strong
and rigid.

For assistance please contact: support@nextlevelracing.com

www.nextlevelracing.com




o

RACING F-GT SIMULATOR COCKPIT

Step 8: Formula ATTACHING SEAT

1X 60MM BOLT.
Repeat both sides.

Step 9: Formula TIPS

- PEDAL ANGLE BAR: This determines the distance of your pedals. If you are a shorter user attach
closer to the seat. Opposite for taller users.

- In Formula position, for extra comfort you may find the LUMBAR SUPPORT CUSHION provided
suitable to use for your neck or head.

For assistance please contact: support@nextlevelracing.com

www.nextlevelracing.com




i

RACING F-GT SIMULATOR COCKPIT

Step 10: GT ASSEMBLY

WARNING
DO NOT OVER TIGHTEN 2 X 60MM BOLTS FOR PEDAL PLATE

OR YOU CAN DAMAGE YOUR FRAME

WHEEL PLATE

3.2 X 50MM BOLTS.
Repeat both sides.

5. Attach PEDAL PLATE to
frame using 1 X 16 MM BOLT.
Repeat both sides. / 2. Insert Wheel Support Bars.
Use 2 X 16MM BOLTS on each side

to adjust height.

PEDAL PLATE

1 P

2 X 60MM BOLTS. 4. Attach GT SEAT
Repeat both sides. SUPPORTS to last holes

*Once you are happy with the position using 2 X 60MM BOLTS.
PEDAL ANGLE BAR tighten as much as possible to ensure wheel Repeat both sides.
support is strong and rigid

For assistance please contact: support@nextlevelracing.com

www.nextlevelracing.com




TP

RACING F-GT SIMULATOR COCKPIT

Step 11: GT SEAT ASSEMBLY

2 X 60MM BOLTS.
Repeat both sides.

2 X 60MM BOLTS.
Repeat both sides.

Step 12: GT TIPS

-In GT position for extra comfort you may find the LUMBAR SUPPORT CUSHION provided suitable
to use for your higher back or shoulders.

- Many GT users prefer pedals in Formula style position meaning no need to change pedal position.

For assistance please contact: support@nextlevelracing.com

www.nextlevelracing.com



TP

RACING F-GT SIMULATOR COCKPIT

Step 13: GEAR SHIFTER ASSEMBLY

2 X 50MM BOLTS
SHIFTER BRACKET

SHIFTER ARM

Step 14:

Right hand side shifter

For assistance please contact: support@nextlevelracing.com

www.nextlevelracing.com



TP

RACING F-GT SIMULATOR COCKPIT

Step 15: BUTTKICKER® GAMER 2 ADAPTOR

) 2 X 50MM BOLTS

For assistance please contact: support@nextlevelracing.com

www.nextlevelracing.com



o

RACING F-GT SIMULATOR COCKPIT

Step 16: CHANGING FROM Formula TO GT

4. Wheel Angle
May need adjustment

' 3. Seat Angle
May need

adjustment
1. PEDAL PLATE

*Please note many GT users
prefer pedals in Formula style
position meaning no need for

change. 2. GT SUPPORT
POSTS
Remove the PEDAL PLATE 7 Supﬁtg‘g boSTS
from the PEDAL ANGLE BAR £/ | ~ , :
and mount the PEDAL PLATE T * 5. Wheel Position on ea}:h snde.t.o lift
directly to the FRONT PLATE. May need adjustment seating position

Step 17: CHANGING FROM GT TO Formula

Please reverse the steps when changing from GT to Formula mode.

For assistance please contact: support@nextlevelracing.com

www.nextlevelracing.com



o

RACING F-GT SIMULATOR COCKPIT

Step 18 (OPTIONAL):

SONIDYa I3A3T LX3N -

For maximum rigidity over adjustability, install optional FELT STRIPS in
WHEEL SUPPORT BARS. This means sliding holes in frame won't be effective to
change position

Step 19:

Attach HEIGHT ADJUSTABLE FEET to bottom of cockpit frame

For assistance please contact: support@nextlevelracing.com

www.nextlevelracing.com




